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S 5 =23 3 Ay
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SEE H| &
AFIH(17§/300~350g) 423 -16.29%
b (17§/650~700g) 551 -15.22%
F(17/1kg) 288 28.97%
Hi ==(1327|/3kg) 52 2.22%
CHEH1 R S/1kg/ 2t 2t 2) ZAE 1E 0| ZA}
20[(37H) ZALE 18 O|ZA
SHX| 2 7] (A4 AEH/60009) 414 4.06%
SEFME Sf17](10k2(/1kg) 170 -2.59%
(165=) 17|(2AH/2HE| ¥X|/158/6009) HAALR 19 O ZA
A1 7|(4= @ AH/LAZHH| /600g) MARALZ 18 O/ XA
S ZF(LE/THE/307H) 150 3.71%
Z7|(10ot2|/2A/15m) 171 -9.86%
ZX|(10t2|/=4t/80cm) 495 7.39%
n.50{(1ote|/=4t/30cm) - 130 -5.19%
FHEf(1OF2]/4= & AH/40cm) 207 -5.87%
Q%l0{(10t2|/30cm) - 130 -3.30%
‘2 (20kg) - 1,800 -3.39%
22| (=4t/1kg) HAALE 13 O|Z=A
2FIH(1kg) 63 -3.68%
7+0bs (1kg) 122 1.43%
U I (F 22 /1kg) 114 9.04%
2(12/300g/4= UL/ SEHHE) 54 5.30%
MEE A8 R (L8L/E7IE) 391 7.82%
(1455) A3 (1% 350me/A01H) - 0.00%
WZ=(1H 500me/A01H) 20 1.37%
AZ(19 350me/QAl) =23t
I ESGR:] SOOmQ/QI&. 23t
2R - 4 -0.30%
%‘%(1L) - 2 -0.16%
s+1L) 3 -0.32%
VI IPSETES Ef X|ZH|(150~200g/= LH A/ 2| A) 23
(2E5) o 4 #(150~200g/= L4t/ 2 4) 2gt
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HASHES : 2)
T e g 2 0r | o® | ox | o® | ox | o
(3282) @ A REAZ | AT BENB | OIS | syoie | guote | uxpw | axe | 2uee | zuze

AbH(17H/300~3509) 1,500 2,000 2,500 2,000 1,730 1,720 1,980 2,450 | A1}/860 3,670
HH(17H/650~700g) 2,500 2,500 4,000 5,000 3,230 3,300 2,750 2,450 | £1t/1,930 1,900
2(171/1kg) 1,000 900 1,500 1,280 1,280 2,360 1,000 1,500 1,000 1,000
HiZ=(13£ 7|/3kg) 3,000 3,400 2,500 2,480 2,480 2,480 2,170 2,000 | Z4/1,600 1,000
CHOH1HS/1kg/Qt 72+ 2) 3,000 3,000 2,000 2,380 4,260 4,110 2,450 2,500 2,590 2,600
20[(3371) 1,500 3,000 2,000 2,990 2,680 2,680 3,480 2,400 1,600 3,300

S X| 27| (A A2 4H/6009) 10,800 9,900 9,900 10,080 9,540 14,100 10,680 10,680 10,800 9,540

sxsug S7((10t2]|/1kg) 6,500 5,700 6,000 6,980 6,500 7,900 6,500 6,500 5,700 5,700

(1622 A D7|(ZA/ZHE|YX|/153/6009) 23,000 27,000 33,000 39,480 50,400 36,000 34,800 27,000 e 34,200
2|07 (=L/LAZH|/6009) 15,000 19,800 19,000 22,440 25,200 22,200 17,880 19,680 o= o=
SHZE(1EE/CH2E/307Y) 3,500 4,900 2,900 4,980 5,780 5,780 3,450 2,700 4,400 3,550
Z7|0t2|/=4t/15cm) 2,000 1,000 2,000 1,680 1,600 e 1,120 oo = /450 o=
ZX|(10t2]/=4t/80cm) 6,250 5,500 10,000 4,800 7,500 6,500 8,000 13,000 4,000 6,400
1.50{(10t2]|/=4/30cm) 2,000 2,500 2,500 1,700 2,800 2,750 2,500 1,500 2,500 3,000
HE{@AOt2|/3= 1 At/40cm) 2,500 3,500 3,000 4,980 2,300 e 4,500 2,500 o= o=
QZ0o{(10t2(/30cm) 4,000 e 5,000 2,480 3,500 2,300 4,200 5,000 | £/2,500 4,000
4 (20kg) 50,000 53,000 54,000 51,990 53,000 53,000 49,500 48,000 50,000 50,000
B2 (= 4/1kg) 4,000 3,000 3,400 2,980 3,490 3,490 4,000 4,000 3,500 3,300
Qt1t(1kg) 1,000 2,000 1,100 1,660 1,660 1,400 1,380 2,500 1,800 2,000
7t0b=(1kg) 10,000 8,000 6,500 7,980 9,340 9,800 7,900 6,500 11,650 8,800
U2 (B 2/1kg) 1,500 1,500 1,500 1,280 1,570 1,180 1,300 1,400 1,120 1,400
SE(12/3009/5 LA/ SEHE) 1,000 1,000 1,500 980 1,000 1,300 1,000 950 1,000 990
Mm= A8 Q(1L8L/E7|E) 4,500 5,000 4,500 6,480 6,950 6,950 3,900 3,300 e 6,950
(1422) A1 350me/A04H) 1,400 1,260 1,250 1,180 1,190 1,190 1,300 1,250 1,250 1,250
OHZ= (19 500me/A04 ) 1,700 1,430 1,450 1,410 1,460 1,460 1,450 1,400 1,650 1,400
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